AdditioN WordS!

Sum

Total
Combine

Altogether



How else could you write the number 2137

A)2+1+3 B) 200 + 10 + 3

C)20+10+3 D) 200 +1 + 3



Which two groups have a combined total of 460?



Which two groups have a combined total of 3147
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This missing number is:
A) 26
B) 17
C)9
D) 8
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This missing number is:
A) 7
B) 20
C) 27

D) 13
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Which of the following equations represents the
number of frogs on all of the lily pads?

A)3+3+3+3+3 =15
B)6+6+3=15

C)3+3+3+3=12
D) 15 + 3 = 18



Jane, Bill and Sarah all work at a clothing store. Below is
a chart showing how much money each of them made on
their first day at work.

Jane = $93  Sarah = $368  Bill = $78

What is the COMBINED amount of money that they made?

A) $329
B) $539
C) $339
D) $529




If each of these athletes own 5 cars, which of the following

equations could be used to calculate the number of cars

A)5-5-5.5.5
B)5+5+5+5+5
C)4+4+4+4

D)5+5+5+5



If seven people are allowed on each bus then which of the
following equations represents the number of people that will
ride on all the three buses.
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A) 21

B) 14 + 7 = 21
C)7+7+7=21
D)7+7=14
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